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[Question ID = 13477]

1. A->1,B->3,C->2,D->4 [Option ID = 23906]
2. A->2,B->1,C->4,D->3 [Option ID = 23905]
3. A->3,B->2,C->4,D->1 [Option ID = 23908]
4. A->3,B->1,C->4,D->2 [Option ID = 23907]



Correct Answer :-
e A->3,B->1,C->4,D->2 [Option ID = 23907]
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[Question ID = 13490]

1. A->1,B->3,C->2,D->4 [Option ID = 23957]
2. A->2,B->1,C->4,D->3 [Option ID = 23958]
3. A->4,B->1,C->2,D->3 [Option ID = 23959]
4, A->3,B->2,C->4,D->1 [Option ID = 23960]

Correct Answer :-
e A->2,B->1,C->4,D->3 [Option ID = 23958]
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[Question ID = 13458]
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[Option ID = 23830]
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Correct Answer :-
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[Question ID = 13478]

1. (iii) »1= (iv) [Option ID = 23911]
2. (if) »r2 (i) [Option ID = 23912]
3, (1) W= (iid) [Option ID = 23909]

. (i) 3 (iv)

[Option ID = 23910]

Correct Answer :-
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Correct Answer :-

w3t AIEr, o, fRee [Option ID = 23817]
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[Question ID = 15230]
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Correct Answer :-

. TIE-gAUt T URET 77 [Option ID = 30918]
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[Question ID = 13460]

1. A->1,B->2,C->3,D->4 [Option ID = 23837]
2. A->2,B->1,C->3,D->4 [Option ID = 23838]
3. A->2,B->3,C->4,D->1 [Option ID = 23839]
4. A->3,B->4,C->1,D->2 [Option ID = 23840]

Correct Answer :-
e A->2,B->3,C->4,D->1 [Option ID = 23839]
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Correct Answer :-
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[Question ID = 13449]
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Correct Answer :-
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[Option ID = 23788]
[Option ID = 23785]

[Option ID = 23787]

4. H'!ﬁ- = [Option ID = 23786]

Correct Answer :-
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[Question ID = 13480]

1. [Option ID = 23918]
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3, Hdl [Option ID = 23920]
4, TOH [Option ID = 23917]

Correct Answer :-

. [Option ID = 23918]
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[Question ID = 13451]

| YHTST = ATz
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[Option ID = 23804]

3 - [Option ID = 23801]

4. [Option ID = 23802]
Correct Answer :-

. m [Option ID = 23802]
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[Question ID = 13476]

. (A) »3 (R) =% AT T8 [Option ID = 23904]
, (A) =TT (R_? EWE,’ 3 [Option ID = 23902]
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Correct Answer :-

. (A) 3 R) T FAT TS [Option ID = 23904]
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Correct Answer :-

3 = g9st [Option ID = 23863]
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. [Option ID = 23940]
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[Question ID = 13472]

1. A->2,B->1,C->4,D->3 [Option ID = 23885]



2. A->2,B->1,C->4,D->3 [Option ID = 23888]
3. A->3,B->4,C->2,D->1 [Option ID = 23886]
4. A->3,B->4,C->1,D->2 [Option ID = 23887]

Correct Answer :-

e A->3,B->4,C->2,D->1 [Option ID = 23886]
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BtAIE
o [Option ID = 23877]
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[Question ID = 13473]

1. [Option ID = 23890]
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Correct Answer :-

N ﬁ s s L}
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[Question ID = 13453]

1. A->1,B->3,C->4,D->2 [Option ID = 23809]
2. A->2,B->3,C->1,D->4 [Option ID = 23810]
3. A->4,B->1,C->2,D->3 [Option ID = 23811]
4. A->3,B->2,C->3,D->1 [Option ID = 23812]

Correct Answer :-
e A->2,B->3,C->1,D->4 [Option ID = 23810]
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[Question ID = 13467]
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Correct Answer :-
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[Question ID = 13454]
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Correct Answer :-

, (i) »i2 (iv) [Option ID = 23816]
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[Question ID = 13448]
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3. [Option ID = 23791]
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Correct Answer :-
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Correct Answer :-
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[Question ID = 13443]

1. A->1,B->3,C->4,D->2 [Option ID = 23769]
2. A->2,B->4,C->3,D->1 [Option ID = 23771]
3. A->2,B->1,C->3,D->4 [Option ID = 23770]
4. A->4,B->3,C->2,D->1 [Option ID = 23772]

Correct Answer :-
e A->2,B->4,C->3,D->1 [Option ID = 23771]
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[Question ID = 13464]
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;, (M) »iE R) EF AIT T [Option ID = 23854]
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[Option ID = 23855]
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[Question ID = 13474]
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2. FET BT [ontion Ip = 23896]

3. a?} [Option ID = 23895]

4. HCE [Option ID = 23894]

Correct Answer :-

. HTEFE [Option ID = 23894]
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Correct Answer :-

. AREIS fRw »rogeamr, IeT 3=, »iAfes aHD [Option ID = 30910]
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[Question ID = 13465]

1. A->1,B->3,C->2,D->4 [Option ID = 23859]
2. A->2,B->4,C->1,D->3 [Option ID = 23860]
3. A->2,B->1,C->3,D->4 [Option ID = 23857]
4. A->3,B->4,C->2,D->1 [Option ID = 23858]

Correct Answer :-

e A->2,B->4,C->1,D->3 [Option ID = 23860]
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[Question ID = 13482]

1. 15 [Option ID = 23927]
2. 12 [Option ID = 23926]
3. 10 [Option ID = 23925]
4. 4 [Option ID = 23928]

Correct Answer :-
o 15 [Option ID = 23927]
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[Question ID = 13488]

1. A->1,B->2,C->4,D->3 [Option ID = 23950]
2. A->2,B->3,C->4,D->1 [Option ID = 23951]
3. A->3,B->4,C->2,D->1 [Option ID = 23952]
4. A->3,B->1,C->4,D->2 [Option ID = 23949]

Correct Answer :-
e A->3,B->4,C->2,D->1 [Option ID = 23952]
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[Question ID = 13479]

s'rs'raz T5 THRISOST, TG THH TE geaT
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, TUTUR ot HEhotf, udtorf, uSH fuas

[Option ID = 23914]

Correct Answer :-

. = a?;é [Option ID = 23916]
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LT HoY & Had sTTgeT JI

[Option ID = 23899]

[Option ID = 23897]

Correct Answer :-
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[Question ID = 13463]
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1. = [Option ID = 23852]
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3. HomT Frfaet-1 2 [Option ID = 23851]
4, Jg-To [Option ID = 23849]

Correct Answer :-
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[Question ID = 13486]
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[Option ID = 23942]

[Option ID = 23944]

Correct Answer :-

| df==q =1, 3In== TRy fais, Sterme. fRox [Option ID = 23944]
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[Question ID = 13444]
L (A) At niz (R) 83
, (A)»Z (R) 2 7aT T3
, (8) 73 (R) ¥F 7053 T5 [Option ID = 23774]
, (A) wiffire 7Tt »i2 (R) yIs AT 9

[Option ID = 23776]
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Correct Answer :-

., (A) AT 72 (R) 783 T [Option ID = 23776]
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[Question ID = 13489]

(A) I3 T (R) AIT T1
1. . [Option ID = 23955]
, (&) w3 (R) 2% 53 I5|
, (A w3 [R) T AIT TS|

i [Option ID = 23954]

, (A) 7T I R) 53 T

[Option ID = 23956]

[Option ID = 23953]

Correct Answer :-

. (A 7?@' CR:) E-% FITJ:I' ?-ﬁl [Option ID = 23954]
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[Question ID = 13442]
. T 9w 2 At
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3. 292 Eli%EJI Gl [Option ID = 23768]
4. H-ﬁ.- oo BF Fﬂ- [Option ID = 23766]

[Option ID = 23767]

Correct Answer :-

TG X TF A [option I = 23766]
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Correct Answer :-

. ) fH'U-I' : % ‘Hﬂ' [Option ID = 23945]
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[Question ID = 13452]

. (A) 2 (R) &F T83 T |
, (A) 7 I 0 R) 31053 1 [Option ID = 23806]
N (A) AIT = (R) WifEs Rat T
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[Option ID = 23805]
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Correct Answer :-

J (A} m% (R) E_% Htﬁ- Jal [Option ID = 23807]
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Correct Answer :-
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[Question ID = 13446]

1. 1390 [Option ID = 23783]
2. 1410 [Option ID = 23782]
3. 1430 [Option ID = 23784]
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Correct Answer :-
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[Question ID = 13483]

1. A->4,B->3,C->1,D->2 [Option ID = 23930]
2. A->4,B->2,C->3,D->1 [Option ID = 23932]
3. A->3,B->2,C->1,D->4 [Option ID = 23931]
4. A->3,B->1,C->4,D->2 [Option ID = 23929]

Correct Answer :-
e A->4,B->3,C->1,D->2 [Option ID = 23930]
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